fmmm AT B S AN EX

%E: 2F, iR fR8%: S12, fZiE: P001-1 [B:29,Y3:350]; R 3 [BRA#%]:690.00 * 398.12 cm ;[#RL#7]:720.00 * 428.12 cm;
E:12cm
BMASEENE LES (EREFARE-ZURZREAMEE)
BB #4 (LE)EB (X E)-ZE5EE= (99.5+[ ¥ B]15+[# 7R #8E](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (LE)RBE(Y,E)= (172 5+ 2]15+[ K [6]1/2#£1]48.0/2)*(round(99.5/30)+1)/100= 8.5 M
#3 MNE( L) B (X, 1E)-ZE =18 = (99.5+[ 3 #R]15+[# 78§ %E](15.0+13.7))*(round(172.5/30)+1)/100= 10.0 M
SE2[E #4 (L F)EmE (X, 5)= (199.1)*(round(172.5/18)+1)/100= 21.9 M
#4 (EF)RE(Y,E)= (172.5+ £ BR15+[FK [E11/2#£1£]48.0/2)*(round(199.1/20)+1)/100= 23.3 M
#3 PN (L) E B (X, &)= (199.1)*(round(172.5/30)+1)/100= 13.9 M
3B #4 (LA)EE (X E)-GRiE= (99.5+[F B]15+[# 7R #HE](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (LR)RBE(Y,E)= (172 5+ ]15+[ K [6]1/2#£1]48.0/2)*(round(99.5/30)+1)/100= 8.5 M
#3 MNAR(LR)EE (X HK)-G FiE= (99.5+[ ¥ B]15+[# 7R $H7E](15.0+13.7))*(round(172.5/30)+1)/100= 10.0 M
FAR #4 (T E)ER(X )-8 = (99.5+[ ¥ ]15+[38 /8 #E](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (FE)RBE(Y,E)= (172.5+3F ]15+[FK [6]1/235#£]148.0/2)*(round(99.5/30)+1)/100= 8.5 M
#3 INFA( T ) B 6 (X A8)-Z2 5538 = (99.5+[F BR]15+[8 8§ E](15.0+13.7))*(round(172.5/30)+1)/100= 10.0 M
SE5E #4 (T &)E[(X, %)= (199.1*(round(172.5/18)+1)/100= 21.9 M
#4 (T H)RE(Y,E)= (172.5+[# BR15+[55 [E1/2#££148.0/2)*(round(199.1/20)+1)/100= 23.3 M
#3 INFR(T AP E (X, 58)= (199.1)*(round(172.5/30)+1)/100= 13.9 M
HE6E #4 (T H)EB(XH)-HFiB= (99.5+##R]15+[38 8 #E](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (FA)RBE(Y,E)= (172.5+3F 2]15+[FK [6]1/2#£#£]148.0/2)*(round(99.5/30)+1)/100= 8.5 M
#3 IR T A)E B (X AE)-H 58 = (99.5+[F 15+ 8§ E](15.0+13.7))*(round(172.5/30)+1)/100= 10.0 M
TR #4(PE)E B (X 48)-ZL 52 8= (99.5+ [ BR]15+[8 7R $47E](15.0+18.3))*(round(345.0/12)+1)/100= 44.3 M
#4 (P E)RE(Y,E) = (345.0)*(round(99.5/30)+1)/100= 13.8 M
E8E #4 (b h)EE(X,H)= 199.1*(round(345.0/24)+1)/100= 29.9 M
#4 ()R E(Y,E)= 345.0*(round(199.1/40)+1)/100= 20.7 M
IR #4 (P H)EE(XHE)-AFiE= (99.5+[ % BR]15+[38 /8 #E](15.0+18.3))*(round(345.0/12)+1)/100= 44.3 M
_ #4 (PA)RE(Y,E)= (345.0)*(round(99.5/30)+1)/100= 13.8 M
MAEREAETES ERSGFHAEE-ZURZREAMEE)
F1E #4 (LE)EE(XE)- L 5Fi18= (99.5+[ ¥ B]15+[8 8§ 7E](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (EE)RBE(Y,E)= (172.5+ ¥ 15+ K [E11/2#£1%]48.0/2)*(round(99.5/15)+1)/100= 16.9 M
#3 ME(LE)RE(Y,E)= (172.5+[ ¥ B]15+[R [61/2#1#]36.0/2)*(round(99.5/30)+1)/100= 8.2 M
F2E #4 (L H)ERE(X,H)= (199.1)*(round(172.5/18)+1)/100= 21.9 M
#4 (ERVRBE(Y,E)= (172.5+[ ¥ B]15+[K [011/21£$£]48.0/2)*(round(199.1/10)+1)/100= 44.4 M
#3 MEA(LP)RE(Y,E)= (172.5+[ 3 BR]15+[F [E1/27& $2]36.0/2+[HE8*1]15%0.95*1)*(round
(199.1/30)+1)/100= 17.6 M
3R #4 (L B)EE(XH)-AFi#= (99.5+[ 4 BR]15+[38 8 #7E](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (EA)RBE(Y,E)= (172.5+[F BR]15+[FK [E11/2#£1£]48.0/2)*(round(99.5/15)+1)/100= 16.9 M
#3 M (LER)RBE(Y,E)= (172.5+[3¥ BR]15+[4& [E11/2#5$£]36.0/2)*(round(99.5/30)+1)/100= 8.2 M
AR #4 (T E)ER(XHE)- L T8 = (99.5+[ B]15+[8 8§ 7E](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (TE)RBE(Y,E)= (172.5+ ¥ 15+ K [E11/2#£1£]48.0/2)*(round(99.5/15)+1)/100= 16.9 M
#3 ME( T E)RE(Y,E)= (172.5+[ ¥ B]15+[R [61/2#1#]36.0/2)*(round(99.5/30)+1)/100= 8.2 M
ZE5E #4 (T &)E /(X 5)= (199.1*(round(172.5/18)+1)/100= 21.9 M
#4 (TR BE(Y,E)= (172.5+[F #]15+[4= [611/244$£]48.0/2)*(round(199.1/10)+1)/100= 44.4 M
#3 ME(T P)RE(Y,E)= (172.5+[ 3 BR]15+[F [E11/2#& $2]36.0/2+[HE*1]15%0.95*1)*(round
(199.1/30)+1)/100= 17.6 M
FE6RE #4 (FAB)EE(X,H)-AFi#= (99.5+[ 4 B]15+[38 8 #7E](15.0+18.3))*(round(172.5/18)+1)/100= 16.3 M
#4 (THR)RBE(Y,E)= (172.5+[ ¥ B]15+[K 8 1/2$44£]48.0/2)*(round(99.5/15)+1)/100= 16.9 M
#3 MER(TA)RE(Y,E)= (172.5+[F B]15+[FK [6]1/2#1%]36.0/2)*(round(99.5/30)+1)/100= 8.2 M
F7[E #4(PE)EE (X EH)-LFE= (99.5+[F B]15+[12 A $#E](15.0+18.3))*(round(345.0/24)+1)/100= 22.2 M
#4 (P E)RE(Y,E) = (345.0)*(round(99.5/15)+1)/100= 27.6 M
SE8[E #4 (W)= (X, 58)= 199.1*(round(345.0/12)+1)/100= 59.7 M
#4 (Fpeh)RE(Y,E)= 345.0*(round(199.1/20)+1)/100= 38.0 M
FIE #4 (P H)EE(XHE)-G Fi18= (99.5+[ ¥ )15+ A #E](15.0+18.3))*(round(345.0/24)+1)/100= 22.2 M
- #4 (R A)RE(Y,E)= (345.0)*(round(99.5/15)+1)/100= 27.6 M
T :
—WRERERETIEHRERERE 15 cm , FFEHEN
#3IMR R B T 8 TS (R R E NS AR A):
R E&: 428.12*(ceiling(690.00/200)+1)= 2140.60 cm
S mMER: 720.00*(ceiling(398.12/200)+1)= 2160.00 cm
ﬁmi_JrgmiEﬁﬁﬁEIir;I{’ﬁﬁﬁ@E: (2140.60+2160.00)/100= 43.01 M
BWARER: 5 &5 [ R ARE T EES 2 m&{E]27.31 = 27.31 M2
i Age8 2B RB A E L REEEIRAGR BN EAR BEEEERAqest ET R
WA SR E:
(A Hr 38 50 £148)=0.00 M2
AR/ ET:27.31-[WR B8 0]0.00+[ Wk B8 O £48]0.00-[AR 1% 32 $£]0.00=27.31 M2
_?éubk?rﬁu&,ﬁ“ﬁiﬁ%%ﬁ*ﬁ,ﬁﬁuﬁﬁﬁ?r
RCEH &
[FRAFMEETERE 2 EmEE]27.31*12/100= 3.277 M3

Page 1/2



RC/DEF:3.277-[FfxFI ORC]0.000=3.277 M3
oo S = )y —
S AR AT B R (kB O L B0 BR % ): (MRBA O Eb451:0.00)
#3=179.03 M*(1-0.0000)=179.03 M (179.03 M*0.560/1000= 0.1003 T)
#4=818.60 M*(1-0.0000)=818.60 M (818.60 M*0.994/1000= 0.8137 T)
WA N EN(EEH+@EE) =0914T
AR =27.31 M2
SR /NET =3.277 M3
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